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Four alternatives are given for each of the following questions /

incomplete statements. Only one of them is correct or most

appropriate. Choose the correct alternative and write the

complete answer along with its letter of alphabet : 6x1=6

1. The poor boy tried to answer .............. could hardly utter a word.

The suitable conjunction to be filled in the blank is

(A) and (B) though

(C) but (D) either

2. Identify the correctly punctuated sentence from the ones given

below :

(A) “All right, said the patient. I will have a specialist.”

(B) All right said the patient I will have a specialist.

(C) All right said the patient. I will have a specialist.

(D) “All right”, said the patient, “I will have a specialist.”

3. The noun form of the verb 'confuse' is

(A) Confused (B) Confusion

(C) Confusingly (D) Confusedly
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4.  His voice rose like a gale.

The figure of speech used here is

(A) Simile (B) Metaphor
(C) Personification (D) Alliteration
S. They ..cc.c...... sleeping when the thief . ........... the bedroom.

The correct tense form of the verbs to be filled in the blanks are

(A) was, enter

(C) to be, entered

6. Mr. Chugh : Can I speak to Mr. Adhikari, please ?

(B)

(D)

were, entered

had been, enter

Akash Chopra : May | know, who is calling ?

Mr. Chugh : I am M. N. Chugh, secretary, Bharti Cellular Ltd.

The language function of the underlined sentence in the above

conversation is

(A) seeking permission

(C) seeking apology

(B)

(D)

seeking help

seeking information
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II. Observe the relationship between the first pair of words and

complete the second pair accordingly in the following: 4x1=4

7. Write : right :: Weather : .........c.oooiiieni. .

8. Comfort : discomfort :: Fortune : ....cooovvvvvvvviininnnnn.. .

9. Confer : award :: Caress : cooovvevveiviineinnnne. .

10. Wolves : pack :: SINETS : .evvvevvenrinennenienenne. .

III. Rewrite as directed : 3x1=3

11. Combine the sentences using,

notonly ................. but also

He is punctual. He is faithful.

12. Change the voice of the sentence.

All trust an honest man.

13. Frame a question to get the underlined words as answer.

I saw my friend in Rajaseat last night.
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IV. Answer the following questions in a sentence each : T7Tx1=17
14. What was tea drunk as in Europe during sixteenth century ?
15. Who show relations to the poet Walt Whitman ?
16. What is Belinda’s bravery compared to ?
17. Where was Ausable’s room located ?
18. What is Oliver Lutkins called by folks ?
19. Why couldn’t Griffin sustain without clothes ?
20. Name the four daughters of Ramlal.

V. Answer the following questions in two to three sentences each :

21.

22.

23.

24.

25.

7x2=14

Brief the content in Lencho’s second letter to ‘God’.

What are the factors given by Lomov, to say Oxen Meadows are

not Natalya’s possession ?

What all activities of Amanda does her mother restrict ?

List out the stuff filled in the car while admitting Tricki to

B EFLE

hospital.

How did the thief return the money to Anil undetected ?
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26. Describe Mme Loisel’s miserable ten years to restore the debt.

27. Why was the young lawyer sent to New Mullion ? How was the

place ?

OR

Explain the bridegroom’s entry in Bholi’s Wedding.

VI. Rewrite as directed : I3 x2=6

28. Change the following sentence to the other two degrees of

comparison.
A ] !.

Wordsworth is one of the greatest English poets.
29. Change the following sentence into reported speech.

She said, “It is very nice of you to think of that”.

30. Change the following simple sentence into compound and

complex sentences.

In spite of his riches, he is unhappy.

VII. Answer the following questions in five to six sentences each :

6x3=18

31. How do other children see Wanda as different in many

ways ?
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32.

33.

34.

35.

36.

Describe the statement of Buddha with his illustrations.

“So the world is afflicted with death and decay ......... ”

Justify the quotation — ‘A little thing touches a larger one’...... by

Robert Frost relevant to the poem, ‘Dust of Snow’.

Contrast the life of a tiger in the zoo with that in the natural

ESFFRE

habitat.

Interpret the rapport between Richard Ebright and Richard A.

Weiherer.

How does a traditional Goan village baker still have an important

place in the society ?

OR

What do you know about the people of Coorg ?

VIII. Explain with reference to the context :

37.

38.

39.

40.

‘He knows that I am lost.’

“I hope it passes quickly.”

I stand and look at them long and long.

He went at the pirate like a robin at a worm.

4x3=12
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IX. Quote from memory : 1x4=4

OR

..................................... on his toes.

X. Answer the following questions in seven to eight sentences each :

3x4=12

42. Nelson Mandela states — ‘Oppressor is also not free’. Justify.

OR

How does the young seagull conquer his fear ?
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43. Briefly sketch Anne’s life.

OR
How did Wanda’s amazing drawing skills made her classmates
feel ashamed about how they had treated her ?
44. Explain the losing of the ball by the boy in contrast to the
learning of loss.
OR

Why does the poet Walt Whitman feel complicated and false to

live with humans rather than animals ?

XI. Read the following passage carefully and answer the questions

given below : 1x4=4(2+2)

45. Today we see a society in WhiCh. there are tremendous differences
between man and man, great riches on one side and great
poverty on the other. Some people live in luxury without doing
any work. Whilst others work from morning till evening with no
rest or leisure and yet have not got the barest necessities of life.

This cannot be right. It is the negation of justice. It is not the

fault of our individuals who happen to be rich. It is the fault of
the system and it is up to us to change this system which permits

exploitation of man by man and produces so much misery. Our
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country can produce enough to permit every man and woman
living in it to live in comfort and peace. Every man and woman

must have the opportunity to develop to the best of his or her

ability. But to do so, we shall have to forget some of our ideas of a
by-gone age. Honour and merit must come from ability and hard
work and not because of caste or birth or riches. Let each one of
us consider the other as his brother, not the higher or lower,
neither to be worshipped nor despised, but treated as equal with
equal rights to share this good country of ours and all it

produces.

Questions :

a) Differentiate two ranks of people in a society with

descriptions.

b) How can this discrimination be overcome ?

XII. Write an essay of about 18-20 sentences on any one of the

following topics : 1x5=5

46. a) Discipline is necessary for success in life.

b) Newspaper — A source of knowledge.
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XIII. Imagine that you are Juhitha/Juthik residing at # No : 102, SAI

Apartments, Gobain street, Pandarapur.

47. Write a letter to the Health Officer of your ward complaining

against insanitary conditions of your locality. 1x5=5

OR

Imagine that you are Hima / Hemant studying in X standard,

Government composite High School, Karwar.

Write a letter to Reema/Ravi put up in 3rd cross, Gayatri

Extension, Kabinikere telling her/him how you celebrated your

ESEEHE

grandfather’s 75th birthday.
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